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Joint products:  المنتجات المشتركة 

 
The joint products may be defined as Two or more products produced 

simultaneously by the same process up to the ‘split-off’ point. 

أنهنننكرجالمنننككرأ رأ  ننن رينننليرونلكوهمنننكرسنننعر ينننتر اقننن ر نننا  راتفم  ننن رقلننن رن  ننن ريمكنننعريف ينننتراتمالمنننكةراتم نننل   ر  ننن ر

 .""الان صكل

Joint product , a primary output of a joint process; each joint product individually has 

substantial revenue-generating ability 

ريلملعر لرجالجرج ل كر   رق ةر   رةررأسكس  ر   ريوت  رالإي اداةاتمالجراتم ل ك،رهوراتاكيجرالأسكسعرتفم   رج ل   ؛ر

 

 The point at which these products emerge in their separately identifiable form is 

known as point of separation or split-off point. At this point, some of the joint 

products have an economic value and can be sold to customers while others require a 

further processing before they can be placed in the salable condition. 

أ رن  ننن رربنقطةةةة اصنلصةةةا  نننكلرجا صنننلرفننن لراتا  ننن راتلنننعري هننن ر اننن هكرهنننهاراتمالمنننكةرسنننعر نننك هكرات ك نننلرت ل  يننن ر ي

الان سننننكي رسننننعرهننننهاراتم ق نننن ،ريلملننننعر فننننةراتمالمننننكةراتم ننننل   ر   منننن رايلصننننكدي ر يمكننننعر  فهننننكرت فمنننن  ر  امننننكري لننننك ر

 .اتبفةرالآخ روت رجفكتم روضكس  ريبلر ضفهكرسعرقكت ريك   رت ب ع

The common examples of businesses where the production of joint products can be 

found include chemical companies, refineries, coke manufacturers, flour mills, coal 

mines, gas companies, lumber mills, meat processors and packers, dairies and canners 

etc. 

ملرالأج  ننن رات نننكشف رت  ننن  كةراتلنننعريمكنننعراتف نننورر  ننن رونلنننك رجالمنننكةرج نننل   رس هنننكر ننن  كةراتك مك ينننكةر جصنننكسعري ننن

اتلك يننن ر جصنننافعرس نننيراتكنننوكر ج نننكقعراتننن ي كر جانننكويرات  نننير  ننن  كةراتانننكمر ج نننكقعرالأخ نننك ر جفكتمنننكةرات  نننوير

  يفبئلهكر جصكنعرالأتبككر اتمف بكةر جكروت رذتك

Raw milk is mostly the primary product which is further processed using different ways to 

extract other products like cream, cheese, yogurt, butter and saturated oil (ghee) etc. Raw 

milk in its purest form can be called as “whole fat milk”. This product is further passed 

through different processes and screens to extract further products.  

ق  براتخكيرهورسعراتاكتبراتمالجرالأسكسعراتهيريليرجفكتملهر كسلخ ايرط قرجخل   رلاسلخ صرجالمكةرأخ ىرج لراتك يم ر

يمكعريسم  رات   براتخكيرسعرأن  رصورار كسير"رق  بر اتمبعر اتز كديرر اتز  ةر اتزيتراتم بعر)اتسمع(ر جكروت رذتك ر 

 . كجلرات سي" ريليريم ي رههاراتمالجرجعرخ لر م  كةر  ك كةرجخل   رلاسلخ ا راتمزي رجعراتمالمكة

Joint costs: costs incurred for material, labor, and overhead during a joint process up to the 

split-off point 

:راتلككت تراتملكب ةرج ك لراتموادر اتفمكت ر اتلككت ترغ  راتمبك  ةررخ لر م   رج ل   رقل رن   رالتكاليف المشتركة

 الان صكلر
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By-product: an incidental output of a joint process; it is salable, but the sales value is not 

substantial enough for management to justify undertaking the joint process; it is viewed as 

having a higher sales value than scrap 

أكريكوكريك   رت ب ع،ر تكعري م راتمب فكةرت ستر ب  ةر مكريك عر اتمالجراتف ضعرأ رات كنوي:رنكيجر  ضعرتفم   رج ل   ؛ر

كر   رأنهكرذاةري م رجب فكةرأ   رجعراتخ دةتلإدارةرتلب ي رات  كير كتفم   راتم ل   ؛رياُ  روت ه  

 

 

Joint cost 

   
 

 

Raw milk 

 

 

 

 

 

                            Split-off point



 

4 

 

Distinction between joint and by-products التمييز بين المنتجات المشتركة والعرضية     

 

 Distinction is based upon the relative importance of their  sales value 

 A by-product is the secondary product recovered in the course of manufacturing a primary 

product 

 The by-product is a product whose total sales value is relatively minor in comparison with the 

sales value of the main product(s) 

 

 *ريفلم راتلم  زر   رالأهم  راتاسب  رت  م رجب فكيهكرر

 اتمالجراتف ضرا رات كنويرهوراتمالجرات كنويراتهيريليري م هرأ رنا  لهررأثاك ريصا عراتمالجرالأسكسعرأرالا تع •

 اتمالجرات كنويرهورجالجريكوكري م رجب فكيهرالإومكت  رضئ   رنسبً كرج كرن ر   م رجب فكةراتمالجر)اتمالمكة(رات ش س   •

 

 Approaches to Allocating Joint Costs 

-:المداخل لتخصيص التكاليف المشتركة  

Two approaches are used to allocate joint costs. اتلككت تراتم ل   ج خ  عريسلخ جككرتلخص صر  

 

■ Approach 1.المدخل الأو ر Allocate joint costs using physical measures, such as the weight, 
quantity (physical units) method, or volume of the joint products. 

يخص صراتلككت تراتم ل   ر كسلخ ايراتم كي  راتمكدي را راتكم  رج لرط ي  رراتومكر,رأ راتكم  ر)ر  دراتوق اةراتمالم ر
 أ رات ميرت وق اةراتم ل   أ راتمخ وكةر(ر

■ Approach 2. ي ن ا ث ل ا ل  خ د م ل  Allocate joint costs using market-based data such asا
revenues. This chapter illustrates three methods that use this approachيخص صراتلككت تر
 :اتم ل   ر كسلخ ايراتب كنكةراتمبا  ر   راسكسراتسوق,رسعرههارات صلرس ليرأسلخ ايرث ث رط قرتههاراتم خلرس طر هعر:

1. Sales value at split-off method ط ي  رات  م راتسوي  ر ا رن   رالان صكلر  

2. Net realizable value (NRV) method ط ي  رصكسعرات  م رات ك   رت ل  كرر  

3. Constant gross-margin percentage NRV method ط ي  رنسب رجمملرات  حرات ك ترر  

Example 1:- 

   Farmers’ Dairy purchases raw milk from individual farms and processes it until the split-off 

point, when two products—cream and liquid skim -ر emerge. These two products are sold to an 

independent company, which markets and distributes them to supermarkets and other retail 

outlets. 

ر-ي وير    رأتبككراتمزار  عر   ا رات   براتخكيرجعراتمزارعرات  دي ر جفكتملهرقل رن   رالان صكل،ر ا هكري ه رجالمككر

 ريلير  عرههيعراتمالم عروت ر    رجسل   ري وير لسوي همكر يوميفهمكر   رج  ةر() الحليب المكثفالكريمة والقشطة السائلة 

 .اتسو  رجكر تر جاكسهراتب عر كتلمزش رالأخ ى

In May 2023, Farmers’ Dairy processes 110,000 gallons of raw milk. During processing, 10,000 

gallons are lost due to evaporation and spillage, yielding 25,000 gallons of cream and 75,000 

gallons of liquid skim. Summary data follow: 

 

ر10000وكتوكرجعرات   براتخكي رأثاك راتمفكتم ،ريليرس  اكرر000 110،ريكجتر    رأتبككراتمزار  عر مفكتم ر2023سعرأيكررر

وكتوكرجعراتسكشلراتم  ود راتب كنكةرر75000وكتوكرجعراتك يم ر ر25000وكتوكر سببراتلبخ ر الانسكك كة،رجمكريالجر اهر

راتمووزةر كلآيعر

: 
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ر

: 

 
 A B C 

1  Joint Costs 

 

2 

Joint costs (costs of 110,000 gallons raw milk and processing to split-off point)            $400,000 

4  Cream Liquid Skim 

5 Beginning inventory (gallons) 0 0 

6 Production (gallons) 25,000 75,000 

7 Sales (gallons) 20,000 30,000 

8 Ending inventory (gallons) 5,000 45,000 

9 Selling price per gallon $ 8 $ 4 

 

Required :- How much of the $400,000 joint costs should be allocated to the cost of goods 
sold of 20,000 gallons of cream and 30,000 gallons of liquid skim, and how much should be 
allocated to the ending inventory of 5,000 gallons of cream and 45,000 gallons of liquid skim? 

د لاررتلك   راتبضكشعراتمبك  رر000 400جكرهوراتم  ارراتهيريمبريخص صهرجعراتلككت تراتم ل   راتبكتا رر-:رالمطلوب
وكتوكرجعرات سيراتسكشل،ر جكرهوراتم  ارراتهيريمبريخص صهرت مخز كراتاهكشعرر000 30وكتوكري  ةر ر000 20اتمكون رجعر

  وكتوكرجعرات   ةراتم  ودراتسكشل؟ر000 45وكتوكري  ةر ر000 5اتبكتغر

Physical-Measure Method :-) طريقة القياس المادي ) الكمية 

The physical-measure method allocates joint costs to joint products produced during theر
accounting period on the basis of a comparable physical measure, such as the relative weight, 
quantity, or volume at the split-off point. In Example 1, the $400,000 joint costs produced 25,000 
gallons of cream and 75,000 gallons of liquid skim. Using the number of gallons produced as 
the physical measure, Exhibit 1 , Panel A, shows how joint costs are allocated to individual 
products to calculate the cost per gallon of cream and liquid skim. 

Because the physical-measure method allocates joint costs on the basis of the number of 
gallons, cost per gallon is the same for both products. Exhibit 1 , Panel B, presents the product-
line income statement using the physical-measure method. The gross-margin percentages are 
50% for cream and 0% for liquid skim. 

 

 لوميعراتلككت تراتم ل   ر   راتمالمكةراتم ل   راتمالم رخ لرات ل ةراتم كسب  رر)اتكمعر(ي ويرط ي  رات  كسراتمكدي
 رسعراتم كلر صكل  رالانأ رات مير ا رن اتمالم ريك لرت م كرن ،رج لراتومكراتاسبعرأ راتكم  رأ ر معر   رأسكسري كسرجكدير

وكتوكرجعراتسكشلرخكتعرات سي رر75000وكتوكرجعرات   ةر ر25000د لاررر400000،رأنلمتراتلككت تراتم ل   راتبكتا ر1
،رات وق رأ،ر     ريخص صراتلككت تراتم ل   رت مالمكةر1 كسلخ اير  دراتمكتونكةراتمالم ر م  كسرجكدي،ريوضحرات كلر

 .تمكتوكراتواق رجعراتك يم ر اتسكش  رجاز   رات سيات  دي رت سك ريك   را

 ن ً ارلأكرط ي  رات  كسرات  زيكشعري وير لوميعراتلككت تراتم ل   ر   رأسكسر  دراتمكتونكة،رسإكراتلك   رتكلروكتوكر
 راتاسبراتمئوي ر،رات وق ر) (،ر  ككردخلرخطرالإنلك ر كسلخ ايرط ي  رات  كسراتمكدي1هعرن سهكرتك راتمالم ع ريف ضرات كلر

ر.%رت سكش  رجاز   رات سي0%رت ك يم ر 50ت هكجشرالإومكتعرهعر

ر

ر

ر

ر
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Exhibit 1 
 A B C D 

1 PANEL A: Allocation of Joint Costs Using Physical-Measure Method Cream Liquid 

Skim 

Total 

2 Physical measure of total production (gallons) 25,000 75,000 100,000 

3 Weighting (25,000 gallons ÷ 100,000 gallons; 75,000 gallons ÷ 100,000 gallons) 0.25 0.75  

4 Joint costs allocated (0.25 × $400,000       ;    0.75 × $400,000) $100,000 $300,000 $400,000 

5 Joint production cost per gallon ($100,000 ÷ 25,000 gallons; $300,000 ÷ 75,000 gallons) $ 4.00 $ 4.00  

6     

7 PANEL B: Product-Line Income Statement Using Physical-Measure Method for May  Cream Liquid 

Skim 

Total 

8 Revenues (20,000 gallons × $8 per gallon; 30,000 gallons × $4 per gallon) $160,000 $120,000 $280,000 

9 Cost of goods sold (joint costs)    

10 Production costs (0.25 × $400,000; 0.75 × $400,000) 100,000 300,000 400,000 

11 Deduct ending inventory (5,000 gallons × $4 per gallon; 45,000 gallons × $4 per gallon)   20,000  180,000  200,000 

12 Cost of goods sold (joint costs)  80,000  120,000  200,000 

13 Gross margin $ 80,000 $ 0 $ 80,000 

14 Gross margin percentage ($80,000 ÷ $160,000; $0 ÷ $120,000; $80,000 ÷ $280,000) 50% 0% 28.6% 

     Sales Value at Split-off Method :-  البيعية عند نقطة الأنلصا طريقة القيمة  

 
The sales valueر )market value) at split-off method allocates joint costs to joint products 
produced during the accounting period on the basis of the relative total sales value at the split-
off point. Using this method for Example 1, Exhibit 2, Panel A, shows how joint costs 
are allocated to individual products to calculate cost per gallon of cream and liquid skim for 
valuing ending inventory. This method uses the sales value of the entire production of the 
accounting period (25,000 gallons of cream and 75,000 gallons of liquid skim), not just the 
quantity sold (20,000 gallons of cream and 30,000 gallons of liquid skim). The reason this method 
does not rely solely on the quantity sold is that the joint costs were incurred on all units produced, 
not just the portion sold during the current period. Exhibit 2, Panel B, presents the product-
line income statement using the sales value at split-off method. Note that the gross-margin 
percentage for each product is 20%, because the sales value at split-off method allocates joint 
costs to each product in proportion to the sales value of total production (cream: $160,000 , 
$200,000 = 80%; liquid skim: 

$240,000 , $300,000 = 80%). Therefore, the gross-margin percentage for each product 
manufactured in May 2023 is the same: 20%. 

ي ويرط ي  ري م راتمب فكةر)ات  م راتسوي  (ر ا رن   رالان صكلرر لخص صراتلككت تراتم ل   رت مالمكةراتم ل   راتمالم رخ لر
،ر2،ريوضحرات كلر1ت م كلرات ل ةراتم كسب  ر   رأسكسروومكتعري م راتمب فكةراتاسب  ر ا رن   رالان صكلر ر كسلخ ايرههارات  ي  ر

ات وق رأ،ر     راتلككت تراتم ل   ريليريخص صهكرت مالمكةرات  دي رت سك راتلك   رتكلروكتوكرجعراتك يم ر ات    راتسكش  رتل   ير
كري   روكتور000 75وكتوكري   ر رر000 25اتمخز كراتاهكشع ريسلخ يرههارات  ي  ري م راتمب فكةرتككجلرونلك رات ل ةراتم كسب  ر)

وكتوكري   رسكش  ( ر اتسببرسعرأكرههارات  ي  رلاريفلم رس طرر000 30وكتوكري   ر رر000 20سكش  (،ر ت  رس طراتكم  راتمبك  ر)
   راتكم  راتمبك  رهورأكراتلككت تراتم ل   رييريكب هكر   روم عراتوق اةراتمالم ،ر ت  رس طراتمز راتمبكعرخ لرات ل ةرات كت   ر

،رات وق ر ،ر  ككردخلرتكلرخطرالإنلك ر كسلخ ايري م راتمب فكةر   ي  راتل س ي رلاقظرأكرنسب رهكجشر2اتلوض  عرريف ضرات كل
%،رلأكري م راتمب فكةر   ي  راتلمزش ريومعراتلككت تراتم ل   رتكلرجالجر مكريلاكسبرجعري م ر20ات  حرالإومكتعرتكلرجالجرهعر
 :%؛ررات    80د لارر=رر200,000د لار/رر160,000جب فكةروومكتعرالإنلك ر)  يي:ر

هعرر2023ررسومكتعرتكلرجالجرييريصا فهرسعرجك٪ ر تهتكرسإكرنسب رهكجشرات  حرالإ80د لارر=رر000 300د لار/ر 240.000
ر%20ن سهك:ر
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joint-Cost Allocation and Product-Line Income Statement Using Sales Value at Split-off Method: 

Farmers’ Dairy for May 2023 
 

 A B C D 

1 PANEL A: Allocation of Joint Costs Using Sales Value at Split-off Method Cream Liquid Skim Total 

2 Sales value of total production at split-off point    

3 (25,000 gallons × $8 per gallon; 75,000 gallons × $4 per gallon) $200,000 $300,000 $500,000 

4 Weighting ($200,000 ÷ $500,000; $300,000 ÷ 500,000) 0.40 0.60  

5 Joint costs allocated (0.40 × $400,000; 0.60 × $400,000) $160,000 $240,000 $400,000 

6 Joint production cost per gallon    

7 ($160,000 ÷ 25,000 gallons; $240,000 ÷ 75,000 gallons) $ 6.40 $ 3.20  

8     

9 PANEL B: Product-Line Income Statement Using Sales Value at Split-off Method for May 

2012 

Cream Liquid Skim Total 

10 Revenues (20,000 gallons × $8 per gallon; 30,000 gallons × $4 per gallon) $160,000 $120,000 $280,000 

11 Cost of goods sold (joint costs)    

12 Production costs (0.40 × $400,000; 0.60 × $400,000) 160,000 240,000 400,000 

13 Deduct ending inventory (5,000 gallons × $6.40 per gallon; 45,000 gallons × $3.20 per gallon)   32,000  144,000  176,000 

14 Cost of goods sold (joint costs)  128,000   96,000  224,000 

15 Gross margin $ 32,000  $ 24,000  $ 56,000 

16 Gross margin percentage ($32,000 ÷ $160,000; $24,000 ÷ $120,000; $56,000 ÷ $280,000) 20% 20% 20% 

 

Net Realizable Value Method :-طريقة صافي القيمة القابلة للتحقق 

In many cases, products are processed beyond the split-off point to bring them to a marketable form 
or to increase their value above their selling price at the split-off point. For example, when crude oil 
is refined, the gasoline, kerosene, benzene,  must be processed further before they can be sold. To 
illustrate, let’s extend the Farmers’ Dairy example. 

ت وصولر هكروت ر كلريك لرت لسويكرأ رتزيكدةري ملهكرسوقرسف ر  فهكرر صكلفكتم راتمالمكةر ف رن   رالانسعر    رجعرات كلاة،ريليرج
يبلرأ رلاقكررضكسعكتم راتبازيعر اتك   س عرر  كلرأ ا رن   رالان سكي ر   رسب لراتم كل،ر ا جكريليريك ي راتا طراتخكي،ريمبرجف

 .تبككرت مزار  ع  فهك رت لوض ح،رد ونكرنوسعرج كلرجالمكةرالأ

Example 2: Assume the same data as in Example 1 except that both cream and liquid skim can be 

processed further: 

 : كسل اك رأنهريمكعرجفكتم ر لرجعراتك يم ر ات    رر  كلرأضكسعرأ رلاقكرتا   رالان صكلر1أسل ضرن  راتب كنكةر مكرسعراتم كلر

■ Cream ➞ Buttercream: 25,000 gallons of cream are further processed to yield 20,000 gallons of 

buttercream at additional processing costs of $280,000. Buttercream, which sells for $25 per 

gallon, is used in the manufacture of butter-based products. 

وكتوكرجعر  يم راتز  ةر لككت ترجفكتم روضكس  رر000 20وكتوكرجعراتك يم رلإنلك رر000 25اتز  ة:ريليرجفكتم ر  يم رر➞رالكريمة

د لارًارت مكتوكراتواق ،رسعرصاك  راتمالمكةراتمفلم ةر   رر25د لار ريليراسلخ اير  يم راتز  ة،راتلعريبكعر سف رر000 280ي رهكر

ر.اتز  ة
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■ Liquid Skim ➞ Condensed Milk: 75,000 gallons of liquid skim are further processed to yield 50,000 

gallons of condensed milk at additional processing costs of $520,000. Condensed milk sells for $22 

per gallon. 

وكتوكرجعرات   برر000 50  برخكتعرات سير  كلروضكسعرلإنلك روكتوكرجعرات ر000 75ات   براتمك ت:ريليرجفكتم ررات    اتسكش  ر

 .د لارًارت اكتوكراتواق ر22د لار ر يبكعرات   براتمك تر سف رر000 520اتمك تر لككت ترجفكتم روضكس  ري رهكر

■ Sales during May 2023 are 12,000 gallons of buttercream and 45,000 gallons of condensed milk. 

Exhibit 5, Panel A, depicts how (a) raw milk is converted into cream and liquid skim in the 
joint production process, and (b) how cream is separately processed into butter- cream and liquid 
skim is separately processed into condensed milk. Panel B shows the data for Example 2 

 .وكتوكرق  برجك تر45000وكتوكر  يم راتز  ةر ر12000هعرر2023اتمب فكةرخ لر ه رجكيور

،رات وق رأ،ر  تر)أ(ريليري ويلرات   براتخكيروت ري  ةر سكش  رجاز   رات سيرسعر م   رالإنلك راتم ل ك،ر ر) (ر5يوضحرات كلر
 .2  كنكةراتم كلر B   كلرجا صلروت رق  برجك ت ريف ضرات وق ري  ةرم  ةر اتسكش  ررا صلروت   تريليرجفكتم رات   ةر  كلرج

 

The net realizable value (NRV) method allocates joint costs to joint products produced during 
the accounting period on the basis of their relative NRV—final sales value minus separable 
costs. The NRV method is typically used in preference to the sales value at split-off method only 
when selling prices for one or more products at split-off do not exist. Using this method for 
Example 2, Exhibit 3, Panel A, shows how joint costs are allocated to individual products to 
calculate cost per gallon of buttercream and condensed milk. 

تم كسب  ر لوميعراتلككت تراتم ل   ر   راتمالمكةراتم ل   راتمالم رخ لرات ل ةرا (NRV) ي ويرط ي  رصكسعرات  م رات ك   رت ل  ك
 ي م راتمب فكةراتاهكش  رج   قًكرجاهكراتلككت ترات ك   رت  صل ريسُلخ يرط ي   - (NRV)    رأسكسرصكسعرات  م رات ك   رت ل  ك

NRV كدةًرتل ض لري م راتمب فكةر ا رط ي  راتلمزش رس طر ا جكرلاريكوكرأسفكرراتب عرتمالجر اق رأ رأ   ر ا راتلمزش رجووودة ر 
،رات وق رأ،ر     ريخص صراتلككت تراتم ل   رت مالمكةرات  دي رت سك ريك   ر3،ريوضحرات كلر2ارات  ي  رسعراتم كلر كسلخ ايرهه

 .اتمكتوكراتواق رجعر  يم راتز  ةر ات   براتمك ت
Exhibit 3, Panel B presents the product-line income statement using the NRV method. 
Gross-margin percentages are 22.0% for buttercream and 26.4% for condensed milk. 

The NRV method is often implemented using simplifying assumptions. For example, even 
when selling prices of joint products vary frequently,  

يب غرنسب رهكجشرات  حرالإومكتعر.NRV الإنلك ر كسلخ ايرط ي  ،رات وق ر ،ر  ككردخلرخطر3يف ضرات كلراتلوض  عر
 كسلخ ايراسل اضكةرجبس   ر   رسب لراتم كل،ر NRV غكتبًكرجكريليريا  هرط ي  ر.%رت    براتمك ت4 26%رتك يم راتز  ةر 0 22

 قل ر ا جكريخل ترأسفكرر  عراتمالمكةراتم ل   ر  كلرجلك ر،ر
Example 2: Overview of Farmers’ Dairy (continued) 

 

PANEL B: Data for Example 2 
 

      

1  Joint Costs Buttercream Condensed Milk 

 

2 

Joint costs (costs of 110,000 gallons raw milk 

and processing to splitoff point) $400,000 

  

 A B C D E 

 

4 

Separable cost of processing 75,000 gallons 

liquid skim into 50,000 gallons condensed milk 

   

$520,000 

5      

6  Cream Liquid Skim Buttercream Condensed Milk 

7 Beginning inventory (gallons) 0 0 0 0 

8 Production (gallons) 25,000 75,000 20,000 50,000 

9 Transfer for further processing (gallons) 25,000 75,000   

10 Sales (gallons)   12,000 45,000 

11 Ending inventory (gallons) 0 0 8,000 5,000 

12 Selling price per gallon $ 8 $ 4 $ 25 $ 22 

 

 
Joint-Cost Allocation and Product-Line Income Statement Using NRV Method: Farmers’ Dairy for 

May 2023 
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 A B C D 

1 PANEL A: Allocation of Joint Costs Using Net Realizable Value Method Buttercream Condensed Milk Total 

2 Final sales value of total production during accounting period    

3 (20,000 gallons × $25 per gallon; 50,000 gallons × $22 per gallon) $500,000 $1,100,000 $1,600,000 

4 Deduct separable costs  280,000   520,000   800,000 

5 Net realizable value at split -ر off point  $220,000 $ 580,000 $ 800,000 

6 Weighting ($220,000 ÷ $800,000; $580,000 ÷ $800,000) 0. 275 0.725  

7 Joint costs allocated (0.275 × $400,000; 0.725 × $400,000) $110,000 $ 290,000 $ 400,000 

8 Production cost per gallon    

9 ([$110,000 + $280,000] ÷ 20,000 gallons; [$290,000 + $520,000] ÷ 50,000 gallons) $ 19.50 $ 16.20  

10     

11 PANEL B: Product-Line Income Statement Using Net Realizable Value Method for May 2023 Buttercream Condensed Milk Total 

12 Revenues (12,000 gallons × $25 per gallon; 45,000 gallons × $22 per gallon) $300,000 $ 990,000 $1,290,000 

13 Cost of goods sold    

14 Joint costs (0.275 × $400,000; 0.725 × $400,000) 110,000 290,000 400,000 

15 Separable costs  280,000   520,000   800,000 

16 Production costs 390,000 810,000 1,200,000 

17 Deduct ending inventory (8,000 gallons × $19.50 per gallon; 5,000 gallons × $16.20 per gallon)  156,000  81,000   237,000 

18 Cost of goods sold  234,000   729,000   963,000 

19 Gross margin  $ 66,000 $ 261,000 $ 327,000 

20 Gross margin percentage ($66,000 ÷ $300,000; $261,000 ÷ $990,000; $327,000 ÷ $1,290,000) 22.0% 26.4% 25.3% 

 

Constant Gross-Margin Percentage Method:- 

 طريقة النسبة المئوية الثابتة لمجمل الربح 

The constant gross-margin percentage method allocates joint costs to joint products produced 
during the accounting period in such a way that each individual product achieves an identical 
gross-margin percentage. The method works backward in that the overall gross margin is 
computed first. Then, for each product, this gross-margin percentage and any separable costs are 
deducted from the final sales value of production in order to back into the joint cost allocation 
for that product. The method can be broken down into three discrete steps. Exhibit -5 رPanel A, 
shows these steps for allocating the $400,000 joint costs between buttercream and condensed 
milk in the Farmers’ Dairy example. As we describe each step, refer to Exhibit 5, Panel A, for 
an illustration of the step. 

 لخص صراتلككت تراتم ل   رت مالمكةراتم ل   راتمالم رخ لرات ل ةراتم كسب  رات ك ل رتممملرات  حريويرط ي  راتاسب راتمئوي ر
   ثري  كر لرجالجر   رق ةرنسب رهكجشروومكتعرجل ك    ريفملرات  ي  ر  كلر كسعرق ثريليرقسك رهكجشرات  حرالإومكتعر

تكلرجالج،ريليرخصيرنسب رهكجشرات  حرالإومكتعر أيريككت تريك   رت  صلرجعري م راتمب فكةراتاهكش  رتلإنلك رأ لاً ر ف رذتك،ر كتاسب ر
ات وق ر5ر- ثرخ واةرجا ص   ريوضحرات كلرجعرأولراتفودةروت ريخص صراتلك   راتم ل   رتههاراتمالج ريمكعري س يرات  ي  روت رث

د لارر  عر  يم راتز  ةر ات   براتمك ترسعرج كلرأتبككراتمزار  ع رر400000اتبكتا رأرههاراتخ واةرتلخص صراتلككت تراتم ل   ر
ر.ات وق رأ،رت  صولر   ريوض حرت خ وةر5عرات كلرأثاك ر ص اكرتكلرخ وة،رراو

 

Step 1: Compute overall gross margin percentage. The overall gross-margin percentage for 
all joint products together is calculated first. This is based on the final sales value of total 
production during the accounting period, not the total revenues of the period. Note, Exhibit 5, 
Panel A, uses $1,600,000, the final expected sales value of the entire output of buttercream and 
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condensed milk, not the $1,290,000 in actual sales revenue for the month of May. 

:رقسك راتاسب راتمئوي رالإومكت  رت هكجشرالإومكتع ريليرقسك راتاسب راتمئوي رالإومكت  رت هكجشرالإومكتعرتمم عراتمالمكةر1اتخ وةر
ي م راتمب فكةراتاهكش  رلإومكتعرالإنلك رخ لرات ل ةراتم كسب  ،ر ت  روومكتعروي اداةرات ل ة راتم ل   رجفًكرأ لاً ر يفلم رذتكر   ر

د لار،ر هوري م راتمب فكةراتاهكش  راتملويف رتككجلرونلك ر  يم راتز  ةرر1,600,000،رات وق رأ،ريسلخ يرجب غر5ج ق  ،رات كلر
 .تمب فكةرات ف   رت ه رايكرد لاررجعروي اداةرار1,290,000 ات   براتمك ت،ر ت  ر

Step 2: Compute total production costs for each product. The gross margin (in dollars) for 
each product is computed by multiplying the overall gross-margin percentage by the product’s 
final sales value of total production. The difference between the final sales value of total 
production and the gross margin then yields the total production costs that the product must bear. 

ض  رراتخ وةرات كن  :رقسك روومكتعريككت ترالإنلك رتكلرجالج ريليرقسك رهكجشرات  حرالإومكتعر) كت  لار(رتكلرجالجر عرط يك
تعرنسب روومكتعرهكجشرات  حرالإومكتعرسعري م راتمب فكةراتاهكش  رت مالجرجعروومكتعرالإنلك  روكرات  قر  عري م راتمب فكةراتاهكش  رلإومك

 .الإنلك ر وومكتعراتهكجشريؤديروت روومكتعريككت ترالإنلك راتلعريمبرأكريل م هكراتمالج

Step 3: Compute allocated joint costs. As the final step, the separable costs for each product 
are deducted from the total production costs that the product must bear to obtain the joint-cost 
allocation for that product. 

ات ك   رت  صلرتكلرجالجرجعروومكتعريككت تر:رقسك راتلككت تراتم ل   راتمخصص  ر  خ وةرأخ  ة،ريليرخصيراتلككت تر3اتخ وةر
ر.الإنلك راتلعريمبرأكريل م هكراتمالجرت  صولر   ريخص صراتلك   راتم ل   رتههاراتمالج

 

Exhibit 5, Panel B, presents the product-line income statement for the constant gross- margin 
percentage  metho
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Joint-Cost Allocation and Product-Line Income Statement Using Constant Gross-Margin 

Percentage NRV Method: Farmers’ Dairy for May 2023 
 

 A B C D 

1 PANEL A: Allocation of Joint Costs Using Constant Gross-Margin Percentage 

NRV Method 

   

2 Step 1    

 

3 

Final sales value of total production during accounting period: 

(20,000 gallons × $25 per gallon) + (50,000 gallons × $22 per gallon) 

 

$1,600,000 

  

4 Deduct joint and separable costs ($400,000 + $280,000 + $520,000)  1,200,000   

5 Gross margin $ 400,000   

6 Gross margin percentage ($400,000 ÷ $1,600,000) 25%   

7  Buttercream Condensed Milk Total 

8 Step 2    

 

9 

Final sales value of total production during accounting period: 

(20,000 gallons × $25 per gallon; 50,000 gallons × $22 per gallon) 

 

$ 500,000 

 

$1,100,000 

 

$1,600,000 

10 Deduct gross margin, using overall gross-margin percentage (25% × $500,000; 25% × 

$1,100,000) 

  125,000   275,000   400,000 

11 Total production costs 375,000 825,000 1,200,000 

12 Step 3    

13 Deduct separable costs   280,000   520,000   800,000 

14 Joint costs allocated $  95,000 $ 305,000 $ 400,000 

 

16 

PANEL B: Product-Line Income Statement Using Constant Gross-Margin 

Percentage Method for May 2023 

Buttercream Condensed Milk Total 

17 Revenues (12,000 gallons × $25 per gallon; 45,000 gallons × $22 per gallon) $ 300,000 $ 990,000 $1,290,000 

18 Cost of goods sold    

19 Joint costs (from Panel A) 95,000 305,000 400,000 

20 Separable costs   280,000   520,000   800,000 

21 Production costs 375,000 825,000 1,200,000 

22 Deduct ending inventory    

23 (8,000 gallons × $18.75 per gallona; 5,000 gallons × $16.50 per gallonb)   150,000  82,500   232,500 

24 Cost of goods sold   225,000   742,500   967,500 

25 Gross margin $  75,000 $ 247,500 $ 322,500 

26 Gross margin percentage ($75,000 ÷ 300,000; $247,500 ÷ $990,000; $322,500 ÷ 

$1,290,000) 

25% 25% 25% 

28 
aTotal production costs of buttercream ÷ Total production of buttercream = $375,000 ÷ 20,000 gallons = $18.75 per gallon. 

29 
bTotal production costs of condensed milk ÷ Total production of condensed milk = $825,000 ÷ 50,000 gallons = $16.50 per gallon. 
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Example ( 2) -:ر  
 Inorganic Chemicals (IC) processes salt into various industrial products. In July 2023, IC 
incurred joint costs of $100,000 to purchase salt and convert it into two products: caustic soda and 
chlorine. Although there is an active outside market for chlorine, IC processes all 800 tons 
of chlorine it produces into 500 tons of PVC (polyvinyl chloride), which is 
 

 مفكتم راتم حر ي وي هروت رجالمكةرصاك   رجخل    رسعريوت ور (IC) ي وير    راتموادراتك م كش  رغ  راتفضوي رر-:ر(2)مثا  

أتترد لاررت  ا راتم حر ي وي هروت رجالم ع:راتصوداراتكك ي ر اتك ور ر   رر100يككت ترج ل   ري رهكر IC ،ريكب ةر    2023

 PVC طعرجعر500طعرجعراتك ورراتهيريالمهروت رر800 مفكتم ر لر IC ت ك ور،ري وير    ات غيرجعر وودرسوقرخكروعرن طر

 يلير ف هكر  فه ر  ا ل(،ر اتهي)  وري راتبوت 

then sold. There were no beginning or ending inventories of salt, caustic soda, chlorine, or 

PVC in July. Information for July 2023 production and sales follows 

 
 

 

 A B C D 

1  Joint Costs PVC 

 

2 

Joint costs (costs of salt and processing to 

Split-off point) 

 

$100,000 

 

 

3 

Separable cost of processing 800 tons 

chlorine into 500 tons PVC 

   

$20,000 

4     

5  Caustic Soda Chlorine PVC 

6 Beginning inventory (tons) 0 0 0 

7 Production (tons) 1,200 800 500 

8 Transfer for further processing (tons)  800  

9 Sales (tons) 1,200  500 

10 Ending inventory (tons) 0 0 0 

11 Selling price per ton in active outside market  $ 75  

12 Selling price per ton for products sold $  50  $ 200 

 

 

 
Required :- 

1. Allocate the joint costs of $100,000 between caustic soda and PVC under (a) the sales value at split-off method and 
(b) the physical-measure method. 

2. Allocate the joint costs of $100,000 between caustic soda and PVC under the NRV method. 
3. Under the three allocation methods in requirements 1 and 2, what is the gross-margin percentage of (a) caustic soda and 

(b) PVC? 
4. Lifetime Swimming Pool Products offers to purchase 800 tons of chlorine in August 2012 at $75 per ton. Assume 

all other production and sales data are the same for August as they were for July. This sale of chlorine to Lifetime 
would mean that no PVC would be produced by IC in August. How would accepting this offer affect IC’s August 
2012 operating income 
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 -: اتم  و 
ات  كسر ي  رطي تر)أ(رط ي  رات  م راتب ف  ر ا رن   رالأن صكلر)ر (ر PVC د لارر  عراتصوداراتكك ي ر اتـر100000يير لخص صراتلككت تراتم ل   راتبكتا ر .1

 .اتمكديرا رات  ي  راتكم  
 .NRV  مووبرط ي   PVC د لارر  عراتصوداراتكك ي ر اتـر000 100يخص صراتلككت تراتم ل   راتبكتا ر .2
 ؟PVC ،رجكرهعرنسب رهكجشرات  حرالإومكتعرتـر)أ(راتصوداراتكك ي ر ) (2 ر1سعراتمل  بكةرر مووبرط قراتلخص صر .3
د لارًارت  ع راسل ضرأكروم عر  كنكةرر75 سف ررر2023طعرجعراتك وررسعرأ رر800  ا ر Lifetime Swimming Pool Products يف ضر     . 4ر

سعرأ ر ر  ترس ؤث ريبولر IC  واس   PVC يفاعرأنهرتعريليرونلك  Lifetime الإنلك ر اتمب فكةرالأخ ىرت ه رأ رهعرن سهكرت ه ريموم روكر  عراتك وررت    
 2012ت ه رأغس  ر IC تف ضر   رات خلراتل ا  عرت    ههارا

Solution 
 

   1a. Sales value at split-off method:- 

 
 A B C D 

1 Allocation of Joint Costs Using Sales Value at Split-off Method Caustic Soda PVC / Chlorine Total 

2 Sales value of total production at split-off point    

3 (1,200 tons × $50 per ton; 800 × $75 per ton) $60,000 $60,000 $120,000 

4 Weighting ($60,000 ÷ $120,000; $60,000 ÷ $120,000) 0.50 0.50  

5 Joint costs allocated (0.50 × $100,000; 0.50 × $100,000) $50,000 $50,000 $100,000 

 

 

    1b. Physical-measure method 

 

 

 A B C D 

8 Allocation of Joint Costs Using Physical-Measure Method Caustic Soda PVC / Chlorine Total 

9 Physical measure of total production (tons) 1,200 800 2,000 

10 Weighting (1,200 tons ÷ 2,000 tons; 800 tons ÷ 2,000 tons) 0.60 0.40  

11 Joint cost allocated (0.60 × $100,000; 0.40 × $100,000) $60,000 $40,000 $100,000 

 

       2. Net realizable value (NRV) method 

 

 A B C D 

14 Allocation of Joint Costs Using Net Realizable Value Method Caustic Soda PVC Total 

15 Final sales value of total production during accounting period    

16 (1,200 tons × $50 per ton; 500 tons × $200 per ton) $60,000 $100,000 $160,000 

17 Deduct separable costs to complete and sell  0   20,000   20,000 

18 Net realizable value at split-off point $60,000 $ 80,000 $140,000 

19 Weighting ($60,000 ÷ $140,000; $80,000 ÷ $140,000) 3/7 4/7  

20 Joint costs allocated (3/7 × $100,000; 4/7 × $100,000) $42,857 $ 57,143 $100,000 



 

14 

 

 

 

3a. Gross-margin percentage of caustic soda 

 

 
 A B C D 

 

 

23 

 

 
Caustic Soda 

Sales Value at 

Split-off Point 

 

Physical Measure 

 

 
NRV 

24 Revenues (1,200 tons × $50 per ton) $60,000 $60,000 $60,000 

25 Cost of goods sold (joint costs)  50,000  60,000  42,857 

26 Gross margin $10,000 $ 0 $17,143 

27 Gross margin percentage ($10,000 ÷ $60,000; $0 ÷ $60,000; $17,143 ÷ $60,000) 16.67% 0.00% 28.57% 

 

 

 

 

 

3b. Gross-margin percentage of PVC 

 

 

 
 A B C D 

 

 
30 

 

 

PVC 

Sales Value at Split-off 

Point 

 

Physical Measure 

 

 

NRV 

31 Revenues (500 tons × $200 per ton) $100,000 $100,000 $100,000 

32 Cost of goods sold    

33 Joint costs 50,000 40,000 57,143 

34 Separable costs   20,000   20,000   20,000 

35 Cost of goods sold   70,000   60,000   77,143 

36 Gross margin $ 30,000 $ 40,000 $ 22,857 

37 Gross margin percentage ($30,000 ÷ $100,000; $40,000 ÷ $100,000; $22,857 

÷ $100,000) 

30.00% 40.00% 22.86% 

 

4. Sale of chlorine versus processing into PVC 

 

 

 

 A B 

40 Incremental revenue from processing 800 tons of chlorine into 500 tons of 

PVC 

 

41 (500 tons × $200 per ton)  (800 tons × $75 per ton) $40,000 

42 Incremental cost of processing 800 tons of chlorine into 500 tons of PVC  20,000 

43 Incremental operating income from further processing  $ 20,000 

 
If IC sells 800 tons of chlorine to Lifetime Swimming Pool Products instead of further 
processing it into PVC, its August 2023 operating income will be reduced by $20,000 

 



 

15 

 

 Example  (3) :- 

 

Joint costs for the period $ 60 000 Output 

and sales price 

X = 4 000 units at $7.50 

 Y = 2 000 units at $25 

 Z = 6 000 units at $3.33 

There are no further processing costs after split-off point. 

 
Required :- 

Allocate the joint costs of $60,000 between three product  under (a) the sales value at split-off method 
and (b) the physical-measure method. 

 

 

Solution :- 

a-Physical Measures Method 

 

Computational example of joint-cost apportionments 

 

Joint costs for the period  $ 60 000 Output 

and sales 

X = 4 000 units at $7.50 Y 

= 2 000 units at $25 

 Z = 6 000 units at $3.33 

There are no further processing costs after split-off point. 

 

 Product X Product Y Product Z Total 

Output( units) 4,000 2,000 6,000 12,000 

Selling price 7.50 25 3.333  

= sales value 30,000 50,000 20,000 100,000 

Less: allocated joint costs:- 

X= (4,000/12,000 ) x 60,000 

Y= ( 2,000/12,000) x 60,000 

Z = ( 6,000/ 12,000) x 60,000 

 

 

20,000 

 

 

10,000 

 

 

 

30,000 

 

 

 

60,000 

Gross margin 10,000 40,000 (10,000)  40,000 

     

 

 

 

 

 

 

 

 

 

 

 

 

 



 

16 

 

b.Sales Value Method 

 

 

 

 Product X Product Y Product Z Total 

Sales value 30,000 50,000 20,000 100,000 

Sales ratio (30,000/100,000) 

=30% 

(50,000/100,000) 

=50% 

(20,000/100,000) 

=20% 

 

100% 

Less: allocated 

joint costs: 

X=60,000x30% 

Y=60,000x50% 

Z= 60,000x20% 

 

 

18,000 

 

 

 

30,000 

 

 

 

 

12,000 

 

 

 

 

60,000 

Gross margin 12,000 20,000 8,000 40,000 

 

 Example  (4)- Net realizable value method 

 Further processing( separable ) costs are deducted from sales value to  

estimate NRV at split-off point 

Joint costs for the period   $ 60 000 Output 

and sales 

X = 4 000 units at $7.50 

 Y = 2 000 units at $ 25  

Z = 6 000 units at $ 3.33 

Further process costs:- 

             X = 8,000 

             Y = 10,000 

             Z = 2,000  

Required :- 

Allocate the joint costs of $60,000 between three product  under NRV method. 

 

 

Products sales Further process 

(separable ) costs 

Net realizable value 

amount Ratio 

x 30,000 8,000 22,000 (22,000/80,000)27.5% 

Y 50,000 10,000 40,000 (40,000/80,000)50% 

Z 20,000 2,000 18,000 (18,000/80,000)22.5% 

Total 100,000 20,000 80,000                                100% 

 

 

Products sales Total costs Income 

Costs allocated Further 

process 

costs 

Total costs 

X 30,000 (60,000x27.5%)16,500 8,000 24,500 5,500 

Y 50,000 (60,000 x50%) 30,000 10,000 40,000 10,000 

Z 20,000 (60,000 x22.5%)13,500 2,000 15,500 4,500 

Total 100,000                                60,000 20,000 80,000 40,000 
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Constant gross profit percentage method 

 

Example (5) :-  

 Using the previous example and assuming that joint costs are:- 
Required :- 

Allocate the joint costs of $60,000 between three product  under the gross-margin percentage method. 

 

 

£60 000, the gross profit is $20 000 ($100 000 sales less $80 000 total costs). Therefore, the total 

gross profit is 20%. 

 

 

Product Product Product Total 

A  B  C 

    

Sales value 30 000 50 000 20 000 100 000 

Gross profit (20%) 6 000 10 000 4000 20 000 

Cost of goods sold 24 000 40 000 16 000 80 000 

Less further processing 

costs 8 000 10 000 2 000 20 000 

Allocated joint costs 

(balance) 16 000 30 000 14 000 60 000 
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Example (6) :- 

a corporation incurred joint costs of $2,400 in manufacturing Product A and Product B to the split-off 

point;  

            Product A weighed 700 pounds and had a sales value at the split-off point of $1,800; 

            Product B weighed 300 pounds and had a sales value  at the split-off point of $1,200   

                          Total          1,000                                                                                         $ 3,000 

 

         Cost Allocation: 

                    Product A = (700 / 1,000)   x 2,400       = 1,680 

                    Product B = (300 / 1,000)   x 2,400       =   720  

                                                                                        2,400 

 

                Income Statement: 

                                                                             Product A      Product B       Total _  

                    Sales                                                     1,800               1,200            3,000 

                   Less : Cost of Goods Sold                    1,680                 720              2,400 

                    Gross Margin                                        120                  480                600  

 

                Gross Margin %: 

                    Product A  = 120 / 1,800 = 7% 

                    Product B  = 480 / 1,200 = 40% 

                    Total          = 600 / 3,000 = 20% 

 

    2.  Sales Value Method 

        a.  sales Value Method--if the sales value at the split-off  point is known, joint costs are allocated to 

the joint products based on their relative sales value at the split-off point 

             

                    Cost Allocation: 

                        Product A = (1,800 / 3,000)  x 2,400           = 1,440 

                        Product B = ( 1,200 / 3,000 ) x 2,400           =   960  

                                                                                                  2,400 

                    Income Statement: 

                                                                                        Product A        Product B         Total _  

                        Sales                                                          1,800                1,200                3,000 

                   Less :Cost of Goods Sold                             1,440                   960                2,400 

                        Gross Margin                                              360                   240                  600  

 

                    Gross Margin %: 

                        Product A     =    360 / 1,800     = 20% 

                        Product B        = 240 / 1,200     = 20% 

                        Total                = 600 / 3,000      = 20% 

 

  3) Net Realizable Value Method:- 

         

      Example (7) --a corporation incurred joint costs of $2,400   in manufacturing Product A and 

Product B to the split-off  point;  

Product A weighed 700 pounds and had a sales value of $3,600 after incurring additional processing 

costs of  $675;  

Product B weighed 300 pounds and had a sales value of  $1,400 after incurring additional processing 

costs of $425 

                        Estimated Net Realizable Value: 

                            Product A      = 3,600 – 675     = 2,925 

                            Product B      = 1,400 – 425       = 975 

                                   Total                                    = 3,900 

                        Cost Allocation: 
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                            Product A           = (2,925 / 3,900) x 2,400        = 1,800 

                           Product B             =( 975 / 3,900 )x 2,400           =   600  

                                                                                                           2,400 

                        Cost of Goods Sold: 

                            Product A      = 1,800 + 675     = 2,475 

                            Product B       = 600 + 425      = 1,025 

                        Income Statement: 

                                                                                      Product A      Product B        Total _  

                            Sales                                                    3,600              1,400              5,000 

                            Cost of Goods Sold                             2,475             1,025               3,500 

                            Gross Margin                                      1,125                375               1,500  

 

                        Gross Margin %: 

                            Product A            = 1,125 / 3,600     = 31% 

                            Product B              = 375 / 1,400       = 27% 

                            Total                     = 1,500 / 5,000     = 30% 

 

            4)  Constant Gross Margin Percentage Method-- 

                 

  Example (8) --a corporation incurred joint costs of $2,400   in manufacturing Product A and Product 

B to the split-off  point;  

      Product A weighed 700 pounds and had a sales value  of $3,600 after incurring additional 

processing costs of  $675;  

Product B weighed 300 pounds and had a sales value of   $1,400 after incurring additional processing 

costs of $425 

                        Constant Gross Margin Percentage: 

                            Total Sales                         = 3,600 + 1,400        = 5,000 

                            Total Cost of Goods Sold = 2,400 + 675 + 425 = 3,500 

                            Total Gross Margin          = 5,000 – 3,500 = 1,500 

                            Total Gross Margin Percentage = 1,500 / 5,000  = 30% 

 

                         

 

 

                                                                         Product A           Product B            Total  

   

    

Sales value            3,600                          1,400   5,000  

Gross profit (30%)            1,080                             420                   1,500 

Cost of goods sold             2,520                             980                   3,500  

Less further processing costs                          675                            425               1,095 

Allocated joint costs (balance)                       1,845                            555                2,400 

 

 

 

                        Income Statement: 

                                                                          Product A      Product B           Total _  

                            Sales                                         3,600               1,400                5,000 

                            Cost of Goods Sold                 2,520                  980                3,500 

                            Gross Margin                          1,080                 420                1,500  

 

                        Gross Margin %: 

                            Product A             = 1,080 / 3,600      = 30% 

                            Product B                = 420 / 1,400      = 30% 
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                            Total                        = 1,500 / 5,000     = 30% 

 

 

 

 

 

Example (7) :--Rolling Meadow Farms incurred $65,000 of production cost in 2023, in a 

joint process to grow a crop with two joint products, Alpha and Beta. The following are 

data related to 2023 operations: 

 

(1) (2) (3) 

 

Sales 

(4) 

Per Ton 

Separate 

(5) 

Per Ton Separate 

(6) 

 

Per Ton 

 

Joint Tons of 

Price per 

Ton at 

Costs if 

Sold at 

Costs if 

Processed 

Final 

Sales 

Products Production Split-Off Split-Off Further Price 

Alpha 45 $ 950 $ 50 $236 $1,450 

Beta 20 1,200 110 200 1,600 

Total               65 

Required: 

a. Allocate the joint process cost to Alpha and Beta using physical method (Ton) as the allocation 

base. 

b. Allocate the joint process cost to Alpha and Beta using the sales values at split- off 

method. 

c. Allocate the joint process cost to Alpha and Beta using the net realizable values at split-off. 

Solution  

a. physical method :- 
      

product Allocation  of joint costs 
Alpha ( 45 /65 ) x 65,000    = $ 45,000 
Beta (20/65 )  x  65,000    = $ 20,000 
Total                                   = $ 65,000 

 
 
Another approach :- 
Alpha   portion of   joint cost = (  45 / 65 ) x 100% = 69.23% 
Beta  portion of joint cost      = ( 20 / 65 ) x 100%  = 30.77% 
Allocation joint costs to Alpha =   69.23 % x 65,000  = $ 45,000 
Allocation joint costs to Beta =  30.77 % x 65,000 =    $ 20,000 
 
 Another  approach  : -  
 

Weighted  average  j o in t  cos t  per  ton  =60,000 ÷65 =  $  1 ,000  per  ton  

products  Tons of  
product ion  

Cost  per  ton  Allocat ion  of  
joint  cos ts  

alpha  45  $ 1 ,000  $ 45,000  
Beta  20  $1,000  $ 20,000  
Total  65   $  65,000  
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(b) sales values at split- off method. 

Product production Selling 

price at 

split-off 

Sales value Sales ratio 

Alpha 45 $ 950 $ 42,750 64% 

Beta 20  1,200  $ 24,000 36% 

Total  65   $ 66,750 100% 

 

 

Product  Sales value ratio Allocation of joint cost 

Alpha  64% (65,000 x 64%) =    $ 41,600 

Beta  36% ( 65,000 x 36% ) =  $ 23,400 

Total  100                                = $ 65,000 

 

c-  NRV method :- 

 

 

Product production Selling 

price at 

split-of 

Per ton 

separate 

costs 

Per ton 

NPV 

At split –

off 

Total NRV 

at split -off 

NRV Ratio 

Alpha  45 950 50 900  $ 40,500 65% 

Beta  20 1,200 110 1,090  $ 21,800 35% 

Total 65     $ 62,300 100% 

 
    

Product  NRV ratio Allocation of joint cost 

Alpha  65% (65,000 x 65%) =    $ 42,250 

Beta  35% ( 65,000 x 35% ) =  $ 22,750 

Total  100                                = $ 65,000 

 

 

 By-products--by product accounting attempts to reflect the economic  

        relationship between the by-products and the joint products with a  

        minimum of recordkeeping costs 

By-product: an incidental output of a joint process; it is salable, but the sales value is not substantial enough for 

management to justify undertaking the joint process; it is viewed as having a higher sales value than scrap 

 

        a.  Sales Value of By-product Sold--the proceeds from the sale of the  by-product are treated 

either as a reduction of cost of goods so or as other revenue 

            

 Example (9)--a corporation incurred joint costs of $16,000 in  manufacturing Product A, Product B, 

and Product C to the split- off point; Product C is considered a by-product; joints costs   are allocated 

to the joint products using their relative  weights; Product A weighed 2,000 pounds and was processed  

beyond the split-off point at a cost of $4,000; Product B  weighed 3,000 pounds and was sold at the 

split-off point;  Product C weighed 500 pounds and had a estimated net realizable  value of $1,000; 

1,400 pounds of Product A were sold; 2,700  pounds of Product B were sold; 400 pounds of Product C 

were sold  

                    Cost Allocation:- 

    a- physical method 
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                        Product A = 2,000 / (2,000 + 3,000) x 16,000 =  6,400 

                        Product B = 3,000 / 5,000 x 16,000                 =  9,600  

                                                                       16,000 

 

                    Cost of Goods Sold: 

                        Product A = 1,400 / 2,000 x (6,400 + 4,000) =   7,280 

                        Product B = 2,700 / 3,000 x 9,600                 =   8,640 

                        Product C = 400 / 500 x 1,000                      = (   800) 

                                                                                                   15,120 

 

        b.  Net Realizable Value--the estimated realizable value of the by- 

            product manufactured is treated as a reduction of the joint costs 

  1)  example 2 --a corporation incurred joint costs of $16,000 in   manufacturing Product A, Product 

B, and Product C to the split-  off point; Product C is considered a by-product; joints costs   are 

allocated to the joint products using their relative weights; Product A weighed 2,000 pounds and was 

processed  beyond the split-off point at a cost of $4,000; Product B  

  weighed 3,000 pounds and was sold at the split-off point;  Product C weighed 500 pounds and had a 

estimated net realizable value of $1,000; 1,400 pounds of Product A were sold; 2,700  pounds of 

Product B were sold; 400 pounds of Product C were  sold  

                    Cost Allocation: 

                        Product A = 2,000 / (2,000 + 3,000) x (16,000 – 1,000)                 =  6,000 

                        Product B = 3,000 / 5,000 x 15,000          9,000  = رررررررررررررررررررررررررررررررررررررر  

 15,000 ررررررررررررررررررررررررررررررررررررررررررررررررررررررررررر                                                                      

 

                    Cost of Goods Sold: 

                        Product A = 1,400 / 2,000 x (6,000 + 4,000) =   7,000 

                        Product B = 2,700 / 3,000 x 9,000         8,100   =  رررررر 

 15,100  ررررررررررررررررررررررررررررررر                                                                   

 

 

Example (10) : Joint product costing – Constant gross margin percentage method 

 

 

The Northern Company manufactures three products at a joint production cost of 

$1,250,000. The Data for the month of January is provided to you: 

 

 

Required: Allocate the joint production cost to products X, Y and Z using constant  gross 

margin percentage method. 

 

Solution 
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Gross margin percentage = Gross margin/Sales revenue 

= $740,000/$3,700,000 

= 0.2 or 20% 
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Exercises (1)  - 

LS Company manufactures two products, Product L and Product S in a joint process. The joint (common) costs incurred 

are $420,000 for a standard production run that generates 180,000 units of L and 120,000 units of S. Product L sells for 

$2.40 per unit while Product S sells for $3.90 per unit.  Assuming both products are sold at the split-off point,  

Required: 

Allocate the joint cost to the  each products using four methods  

 
Exercises (2)  - 

 
. Products A and B are manufactured in a joint process. The joint (common) costs incurred are $252,000 for a 

standard production run that generates 108,000 gallons of Product A which sells for $2.40 per gallon and 

72,000 gallons of Product B which sells for $3.90 per gallon.  If no additional costs are incurred after the split-

off point,  

Required: 

Allocate the joint cost to the  each products using four methods  

 
Exercises (3)  - 

 
Products X and Y are manufactured in a joint process. The joint (common) costs incurred are $420,000 for a standard 

production run that generates 180,000 gallons of Product X which sells for $2.40 per gallon and 120,000 gallons of 

Product Y which sells for $3.90 per gallon.  If additional processing costs beyond the split-off point are $1.40 per gallon 

for Product X and $0.90 per gallon for Product Y,  

Required: 

Allocate the joint cost to the  each products using four methods  

 

 
Exercises (4)   

Products X and Y are manufactured in a joint process. The joint (common) costs incurred are $420,000 for a standard 

production run that generates 180,000 gallons of Product X which sells for $2.40 per gallon and 120,000 gallons of 

Product Y which sells for $3.90 per gallon.  If additional processing costs beyond the split-off point are $1.40 per gallon 

for Product X and $0.90 per gallon for Product Y 

 

Required: 

Allocate the joint cost to the  each products using four methods  

 
Exercises (5)   
 

Barry Company manufactures two products, Glossy and Shiny, from a joint production process. 

One production run costs £6000 and results in 1000 units of Glossy and 4000 units of 

Shiny. Neither product is saleable at split-off, but both must be further processed such 

that the separable cost for Glossy is £3 per unit and for Shiny is £2 per unit. The 

eventual market price for Glossy is £12 and for Shiny is £14. 

 

Required: 

 

 Allocate joint production costs to each product using four methods.  

CHAPTER  EXERCISES.:-   
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Exercises (6)   

 

The NEC  Company operates a simple chemical process to convert a single material into three separate items, 
referred to here as X, Y, and Z. All three  , end products are separated simultaneously at a single split-off point.  
Products X and Y are ready for sale immediately upon split-off without further processing or any other additional 
costs. Product Z, however, is processed further before being sold. There is no available market price for Z at 
the split-off point. 

The selling prices quoted here are expected to remain the same in the coming year. During 2023, the selling 

prices of the items and the total amounts sold were as follows: 

■  X—    75 tons sold for $180 per ton 
■  Y—   225 tons sold for $130 per ton 
■  Z—   280 tons sold for $80 per ton 

The total joint manufacturing costs for the year were $32,800. NEC  spent an additional $12,000 to finish product 

Z. 

There were no beginning inventories of X, Y, or Z. At the end of the year, the following ending inventories of 

completed units were on hand: X, 175 tons; Y, 75 tons; Z, 70 tons. There was no beginning or ending work in process. 

 

Required :- 

Compute the cost of inventories of X, Y, and Z for balance sheet purposes and the cost of goods sold for income 

statement purposes as of December 31, 2023, using the following joint cost allocation methods: 

a. NRV method 

b. Constant gross-margin percentage NRV method 

 

Exercises (7)   

Joint cost allocation: sell immediately or process further. Iowa Soy Products (ISP) buys soy beans and 
processes them into other soy products. Each ton of soy beans that ISP purchases for $300 can be converted for 
an additional $200 into 500 pounds of soy meal and 100 gallons of soy oil. A pound of soy meal can be sold at 
split-off for $1 and soy oil can be sold in bulk for $4 per gallon. 

ISP can process the 500 pounds of soy meal into 600 pounds of soy cookies at an additional cost of 

$300. Each pound of soy cookies can be sold for $2 per pound. The 100 gallons of soy oil can be packaged at a 

cost of $200 and made into 400 quarts of Soyola. Each quart of Soyola can be sold for $1.25. 

 

Required :- 

Allocate the joint cost to the cookies and the Soyola using the following: 

1.Sales value at split-off method 

2.NRV  

Exercises (8)   

 

 

The T&T Company produces three chemicals – chemical P, chemical Q and chemical R. 

Chemical P is sold for $7 per liter, chemical Q for $5 per liter and chemical R for $8 per liter. 

During the month of July, 20,000 liters of chemical P, 50,000 liters of chemical Q and 30,000 

liters of chemical R were produced and sold. 
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The cost data for July is given below: 

 

 

There were no inventories at the start and end of the month. The company uses market value 

method for allocating joint cost to joint products. 

 

Required: 

 

1. Allocate joint cost and compute gross profit for each chemical using four methods. 

2. Decide whether chemical P should be sold at split-off point for $4.50 per liter or 

processed further and sold for $7  


